Weleta=x_, B=X
This is saving upper bound
Sulp_,B_,a_,B_,R_,6_]:=

(Log[(1+R) 6]+Log[p +(1-p) / (B-a) ‘LBeA(/s (x))dlx]]//s/ (2 +R)
This is borrowing lower bound
BU[p ,B_,a_,B_,R_,6_]:=
(/sa-Log[(1+R) 51 -Log[p + (1-p) / (B-a) feA(/s (x)) dlx])/ /3/ (2+R)
5
glp_,B_,a_,B_,r_]:=(1-p)"2+p(1-p) / (B-a) J;e'\(ﬁx (1+r) / (2+r)) dx

SU[0.63, 0.065, 91, 95, 0, 1/1.3]
36.8863

Plot[sU[0.63, 0.065, 91, 95, r, 1/1.3], {r, 0, 0.27}]
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SU[0.63, 0.065, 91, 95, 0.27, 1/1.3]
34.1188

BU[0.63, 0.065, 91, 95, 0.27, 1/1.3]
5.96929

g[0.63, 0.065, 91, 95, 0.27]
7.00301

wim_, B_, r_, R_] t=1-e”(-2fm (R-r) / (2+R))
Y[r_r ﬁ_l P_. 6_! B_l a_] =

B
(2+r) / (1+x) ((1+r) 6 (P +(l-p) / (B-a) ~[‘EA(B (%)) dlx])A(l/ (2+1x))
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EU3 [P_l r ,R_, /3_! m_, 5_! B ,a_, Y_] =

(L+6) /B-e”(-BY)p"2/B ¥[r, B, P, 6, B, a] (1+1/PGA(-/3m(R—r)/(2+r))

1
j (1-w[m, B, r, R] p"2/2°2)~ (-2 (2+R) / 2/ (2+r))d1z] -
P

(1-p) /Be" (-BY) Y[R, B, p, 5, B, a] (1-0[m, 8, x, RIp"2 )
B
1/ (B-a) je"(ﬁx (1+R) / (2+R)) dx
PW[P_I r_,R_, /3_1 m_, 6_1 B_,a_, Y_] :=
(L+6) /B-pe” (-BY) /BY[R, B, P, 5, B, a] -
B
(l-p)e” (-BY) /B¥[R, B, P, 6,B,a] / (B-a) j (e”(Bx (1+R) / (2+R))) dx
EV3 [P_l r_, R_l ﬁ_r m_, 6_! B_l a_, Y_] =
(1+5) /B-PGA(—ﬁY) /BY[rl /3! by, 5! Bl a] -
B
(L-p)e” (-BY) /B¥[R, B, P, 6, B, a] / (B-a) j (e” (Bx (1+R) / (2+R))) dx
fl = Plot[{EU3[0.63, r, 0.27, 0.065, 5.96,1/1.3, 95, 91, 72.5],

PW[0.63, r, 0.27, 0.065, 5.96, 1/1.3, 95, 91, 72.5],
EvV3[0.63, r, 0.27, 0.065, 5.96, 1/1.3, 95, 91, 72.5]}, {r, 0, 0.27}]

0.8
0.7~

061
a L 1 L L L L 1 L L L L 1 L L L L 1 L L L L 1

0.05 0.10 0.15 0.20 0.25

Show[fl, AxesLabel - {rg, EU}]
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normalize utility under perfect market as 1

£2 = Plot [{EU3[0.63, r, 0.27, 0.065, 5.96, 1 /1.3, 95, 91, 72.5] /
PW[0.63, r, 0.27, 0.065, 5.96, 1 /1.3, 95, 91, 72.5],
1, EV3[0.63, r, 0.27, 0.065, 5.96, 1 /1.3, 95, 91, 72.5] /
PW[0.63, r, 0.27, 0.065, 5.96, 1 /1.3, 95, 91, 72.5]}, {r, 0, 0.27}]
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